=
=
03]
<
x
o
|
=
w
0
T
<
=
(®)

SVQBR/L

0603HaqeHne MnactiHa

Buhr
SVQBR/L1616H11 16 {16 | 100 | 35 |16 | 20
SVQBR/L2020K11 2020|125 | 35 |20 | 25 | VB**1103 | M2.5*8 8
SVQBR/L2525M11 2525|150 | 35 [ 25| 32
SVQBR/L1616H16 16 {16100 | 35 | 16| 20
SVQBR/L2020K16 2020|125 | 35 |20 | 25
SVQBR/L2525M16 2525150 | 35 |25 32 VTR | M35 m
SVQBR/L3232P16 3232|170 | 35 |32 40

@

TUMITEC

turning & milling technologies




SVQBR/L

TOKAPHbIE OEPXABKU

0603Ha4eHe MnactuHa
Bunt

S12M-SVQBR/L11 018 | 12| 10 |150| 30 [11|11° TAES
$16Q-SVABR/L11 020 |16 11,5/180| 36 | 15|10°| VB**1103
$20Q-SVOBR/L11 024 120 14 |180| 40 (18| 8° M2.5*8
$20Q-SVQBR/L16 @27 |20 | 14 |180| 45 |18 9°

S25R-SVQBR/L16 032 |25| 17 |200| 50 |23 8°

$32S-SVQBR/L16 040 | 32122,5|250| 55 |30 | 6° | VB**1604 | M3.5*9
SA40T-SVOBR/L16 050 | 40| 27 |300| 55 38| 6°

S50U-SVQBR/L16 057 |50 | 32 |350| 65 |48 4°

0603HaveHe lnactvxa Sth%?rTer

Bkt
S12M-SVQBR/L11-AV | @18 |12 | 11 |150| 29 |26| 10 | 4,5 | 10°
$16Q-SVQBR/L11-AV | @22 | 16| 15 |180| 35 [33[11,5| 5 [10°| VB**1103
S20R-SVQBR/L11-AV | @25 {20 | 18 |200| 45 |39 14 | 5 | & 04 M2.5*8
S25S-SVQBR/L16-AV | @31 | 25| 23 |250| 51 (49|17 | 5 | &

$32S-SVQBR/L16-AV | @40 | 32 | 30 | 250 | 54 |53|22,5| 6,5 | 8°

M2.5*6

VB**1604 M3.5*9

TUMITEC
u turning & milling technologies



